/ SECTION 93 COMPOUND INTERES] \
Objectives

Use the compound interest formulas.

Calculate present value.

. Understand and compute effective annual yield,
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Example 1: You deposit $2000 in a savings account at Hometown Bank, which has a rate of 6%.
a. Find the amount, 4, of money in the account after 3 years subject to compound interest, - uoang 4 Ao A :
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Example 4: You deposit $7500 in a savings account that has a rate of 6%. The interest is @M_ﬂic_q_"ﬂ_l—
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Example 6: An investment is made into a fund that earns 4. 2%. comgounded dally lf$w
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mCompound Interest: | Continuous Compounding }
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Example 8: Charlie invests $3000 in an account that earns 5% imercs@mded continuous ‘
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